44#8 / External View

XI—77% L / Without roof unit

N

] l
[;1 }
| |
h |
[!1 |
I ‘
J B
S

BMAZ / Components

| (x®&% : TY-34)2008.02.08

225
200

50

58.5

L —M5478-RFyh
4-M5 Insert nut

No. %# / Part name ®E / Pcs ME / Material ® . xEME / Color- Finish
T by THAN— / Top cover 1 ABSKEtRE / ABS AJ{NT b=/ White gray
A YI-K°2-h / Polycarbonate |#B / Transparent
2 |K7+— / Base 1 ABSEifE / ABS AJANT V- / White gray
3 (W=7 / Roof 1 |/ PVC AJ4NT U=/ White gray
L (A7 vy b / Gaskef 1 A Y9037/ Polyurethane 73v7 / Black
5 |7y # / Latch 2 A77Vb% / Stainless steel w38 / Unfinished
6 [Eff~x—2AK2A(MS x 10) L gk = {704~k
Screw(M5 - 10) Steel Trivalent chromate
Fo=-hnW5—% / Technical Data
REZML / Protection class IP65
EARE®EE / Operating temperature | -10C ~ +60TC
W 2 5 2/ Flammability class UL9LHB
130
30
9 g e | o
S T, 1NN PN
| [ 1% © 0000000 g
+ o :
\ [l oo I e |
LN — mll
B | L= 1l © © !
} [ | © |
\ ~ . I
| [ Hie? © 0 © 000 oo Py
) L | | == _____
L =M54 Y=o
4-M5 Insert nut
®
BAK@EERED) / Color TypelEnd of product numberd)
25 / Code by T7H = / Top cover K7, — / Base
N G w74 7L — / White gray |[x74 FZ L — / White gray
T #EBR / Transparent RT4A4 FTL— / White gray
[Takachl] Brt&it 2 HF BRI X m%/ﬂl;)l;mﬁﬁgw—71’#ABS7’5$“;91 ©
TARACHIELECTRONICS ENCLOSURE Co. LTD. IP65 ABS PLASTIC BOX with OUTDOOR ROOF
K /Approved | IRE/Checked | #E/Created |Z% /Product number RE/Scal;BS
BCAR2030130 -
iR i::fam a 172
fFB/Date  2021/1/25




RfR / Internal View

MARIZFIL—TE/FFTTOERA,

Drawing does not include roof unit.

2 130

FH

oy

U o= o~o—o

|| —

;

200

B~E /Max dim. 113.6

—

[TEEZEZE:E:E:E:E:E%E ﬁ‘]jﬂ

(el
—

-
1 Iy

AT 1 — (RR)

Base (Internal View)

300
] ]

7 \
Qo ® @0 oo deé g
® ®
® ®
® ®
® ®
Q@@@@@@@@@@Q

T ¥ ~o
L-M54Y4=hFyh
L-M5 Insert nut

d L
: 3

BW~TE /Max dim. 273.6

1

]

gy N O L D )

7

2

B~ % /Max dim. 173

| (x®&% : TY-34)2008.02.08

H 1 —(AR)

Cover (Internal View)

L -M54J%-hFyh

4-M5 Insert nut

B hFEHTE

TAKACHI ELECTRONICS ENCLOSURE Co., LTD.

&% /Title
RE7K BHEE )L — 7 £ ABST 54 v92

IP65 ABS PLASTIC BOX with OUTDOOR ROOF

O

&8 /Approved

IR

12X /Checked

f&H

8IM /Created

N
[mm]

&% /Product number
BCAR203013G/BCAR203013T

RE /Scale
1:35

{EfB /Date 2021/1/25

2/ 2




	BCAR203013
	BCAR203013 (1)

